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(3) M ELF 842 (Signaling Model)
(4) kg % »x % # (Client Effect Model)

fes P F B35 A > £ 204 o

'@%ﬁ’)?p'@’.}@ 1§EJ‘V 'F""—’F" A ﬁﬁbé‘}i‘*ﬁ‘?\'
oo D3 E AV E *xllm’z'w*ﬁ' Rk
8%0 i)z’?-gf;';?—ﬁr.a?? ,?_1[_]9—4_&8)’1‘} ';L,_u 10% E OlF;‘;/Lt

TR F 5 12% 0 K B E D P T

v

E] QH mlal ‘zé\lj 8}\

ge i 120 A

MESUCE
WACC) ?

T 3= £ & & (Weighted Average Cost of

(2)5’ ;%—;J‘-lp D = AL T‘E j\%?ﬂ"?f_g’f’]‘fljﬁo

Capital;

fed D E [ RLL0 A o £ 20 4

il

\
V

H
il




L5

53 2

;%_;J._,Q_T T 3

(1) iﬁaﬁ?"‘igﬁl,oooii%};’B'rﬁﬁf%{§940£a_ﬁ}ﬂn‘j,lf|]§:é

6% L& HL-F > TRHLD Bz B o dok- EHFIF

EJ“‘F‘{ Pz 6 GHX 2 G ERL AT (Y - BAFl
)

2 $- o> EAAE2 ;b\?wgt—r;,_@_ﬁlo,@,u,ﬁﬁ@,fj_g_hﬁ
*'%jﬂg’t Blrdes 1.3 @ o B fidplicz < Sdplcdy P # 5
10,000 &k » E3% = & 7 zaj»s?ﬁ”"% MR %D P alkch: 080 FER BT N
AT 71 ig‘ L‘ LI rj’ﬂg{ﬁﬂ % ‘7

fes T AR 10 4 0 = 20 & o

SR RHAPT RA- kP LG 2 R BRI B
o R BB ER A AN RIST R & AR P B4
j\f,‘}l’--ﬁr": :

ETA ol = (#) P E S A
@ 2 5,000,000
2 4 9,000,000
E 6 13,000,000

BRFRLEE HFPIRAT T RYDERE 5 &
noo :ﬁa"i"#ﬁg" f%’ﬁg,’iﬁj} gg};;gg{4%, % "'Jﬁﬁggi’!?:é:
4’°-¢:\””‘$¢'ﬂ‘a10%’ zj}ﬁfEET’FLFFp54;
Ao E * 3% 4 7

O
:Tﬁ-gl%
O N

g A 120 A

i
il
il




